For three events A, B and C., P (Exactly one of A or B occurs) = P (Exactly one of B or C

occurs) = P (Exactly one of C or A occurs) = L—Land P (All the three events occur

1

simultaneously)= 16 Then the probability that at least one of the events occurs, is.

A
32
B
16
c
64
D



Correct option is B)

1
P(exactlyoneof AorB=P(AUB)-P(A(B)= i =P(A)+P(B)—-2P(ANB)

P(exactlyoneof CorB=P(CUB)-P(CNB)=-=P(C)+P(B)—-2P(C NB)

| =

P(exactlyoneof AorCFP(AUC)-P(ANC)=-=PA)+P(C)-2P(ANC)

| =

Adding all

2P(A)+2P(B) +2P(c)—2P(ANB)—2P(ANC)—2P(B N C) =

|t

P(A)+P(B)+P(c)-P(ANB)-PANC)-PBNC)=

oo el

PAAUBUC)I=PA)+P(B)+RPC)=PAANB)—P{(ANC)—P(BNC)+
P(ANBNC)



